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O HNEBAHEEH EE22HM
2,000,000& = 23| 4,000
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== 600
= 1,400
O JuE2H4H dXt= 700,000& * 23| 1,400
J| 700
= 210
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S
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1,080
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M

S

EURCH
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= 390
= 910
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60,0003 * 509 = 23| 6,000
Jl 3,000
= 900
= 2,100
405 XtatE S| 7,000 5,000 2,000
Jl 3,500
= 1,050
= 2,450
01 A =ZFHSHI 7,000 5,000 2,000
O =AUNHg =5+¢ 7,000,000& 7,000
P 3,500
(= 1,050
= 2,450
FUHESH 29 37,460 40,450 A2,990
201 gEt24Ed| 20,960 23,000 A2,040
01 AR 2telH] 6,000 6,400 2400
O got=2H| 6,000
— NEEg357Y 2,000,000& 2,000
— ¢, XN 222 MH
1,000,000& = 45 4,000
02 Z33&4H 14,960 16,600 1,640
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1,600& » 20L » 80L& 2,560
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202 044l 1,000 1,000 0
01 2 LHAObI 1,000 1,000 0
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10,0003 2"~ 502 1,000
206 XH = Hl 3,000 3,000 0
01 =4l 3,000 3,000 0
O Jdixg Mg+ 300,000& = 103 3,000
301 2 a=s 8,500 2,450 6,050
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= A
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U
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S
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S
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1,500
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75
175
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150

31,39

4,884
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g 242 s
Rl JAEAAY (&9 ®M
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
pJ 2,400
< 720
= 1,680
307 @I2+0l ™ 2,000 1,000 1,000
) 1,000
[ 300
= 700
01 e 2¥ 2 =Hl 2,000 1,000 1,000
O ots3dEAYd 22H XA 400,000& * 5% 2,000
) 1,000
[ 300
= 700
XML EH2E (2H) 5,000 5,000 0
201 Ler2E 1,800 1,800 0
01 AtR2telH] 1,800 1,800 0
O XIHOIEHE Let=2H 100,008 * 11& 1,100
O X0 GIZAIY =&l 7,000& = 100 700
307 g12+01 ™ 3,200 3,200 0
01 9 2¥ 3=l 3,200 3,200 0
O XIDHE Rt2tel 2fZHl 100,000& = 12& 1,200
O XIOHE RHII = HI 200,000& = 103 2,000
XOHZ=JIZE A (D13) 10,104 6,104 4,000
) 5,052
s 5,052
307 @i2+ol ™ 10,104 6,104 4,000
pJ 5,052
= 5,052
05 2I2tRIE = 10,104 6,104 4,000
O XIOH Z=IIZ&AL(1,169%) 10,104,000 10,104
pJ 5,052
= 5,052
XIOH 2HMbl XI&(212) 98,386 40,680 57,706
) 49,193
= 49,193
307 @I2+ol ™ 98,386 40,680 57,706
) 49,193
= 49,193
01 22222 98,386 40,680 57,706
O XIOH A BIXI2 (140H) 98,386,000 98,386
pJ 49,193
T 49,193
LEEHAES ESEHQ FA 630,099 564,588 65,511
) 251,221
& 3,013
< 42,560
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2 333,305
AFINBTA (II2) 55,718 74,933 ~19,220
| 27,859
= 8,358
2 19,501
201 Lur2 Y| 2,700 3,000 300
| 1,350
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2 945
01 LR 2lt] 2,700 3,000 300
O %A 222 M 2,7002! * 1,0000H 2,700
| 1,350
= 405
2 945
307 212H0| & 53,018 71,938 A 18,920
| 26,509
& 7,953
2 8,556
05 BI2HeIEr 2 53,018 71,938 A 18,920
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| 26,509
& 7,953
2 18,556
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= 8,100
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O BIF X & EBX 26 X2 (192)
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g2R 0101y (012) 171,254 157,020 14,234
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2 103,867
101 01214 171,254 157,020 14,234
| 67,387
2 103,867
04 JIAM2R IS4 171,254 157,020 14,234
O S2EAAY X 22X A2 (123)
1,747,6908 * 6% + 128 125,834
| 62,917
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298) 900,008 * 43l 3,600
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=01013) 940,0008 * 122 1,280
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gz Al 15,000 15,000 0
307 212+0| A 15,000 15,000 0
NIEEEEET 15,000 15,000 0
O SzATY| 100,000 * 1502 15,000
geed AARZ(II3) 4,090 3,089 1,001
| 2,045
2 2,045
201 Ypt2 HH| 4,090 1,889 2,201
| 2,045
2 2,045
01 AL 2r2lHl 4,090 1,889 2,201
O gD 584,285% * 72 4,090
| 2,045
2 2,045
OHY BT R AI DS (D12) 3,000 3,000 0
| 1,500
2 1,500
201 LBr2 S| 3,000 3,000 0
| 1,500
2 1,500
01 AL 2relHl 3,000 3,000 0
O ereyE s X 22l D= (FNTP)
3,000,000% * 19 3,000
| 1,500
2 1,500
UESHAL 22| AL 39,200 29,200 10,000
201 Yut2 | 4,000 4,000 0
01 AL 2r2/Hl 4,000 4,000 0
O A¥EHDS DMME 2,000,008 * 25 4,000
307 BI2+0| & 17,200 17,200 0
NIEEEEET] 17,200 17,200 0
O HESHHTA Y|
20,0008 * 402 * 122 9,600
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_ _ AT
SH-EFHHA(FA) - NIRAE - BES Of] AF R '@,‘;OH Hws2
B 800
= 800
MOPE SO ALBATAIS (D13) 2,044 2,240 A 196
pJ 1,635
2 409
201 LBty 225 250 N5
pJ 180
2 45
01 At 22l 225 250 ~25
O MOMED|IHLATAGES 225,000 225
pJ 180
= 45
307 BI2t0I & 1,819 1,990 AT
pJ 1,455
= 364
05 BIZteIEt 2 1,819 1,990 AT
O MOHHBIHL AT ALY 1,819,0002! 1,819
pJ 1,455
= 364
oE Xl ZHIXIR AL (D1 2) 127,443 125,204 2,239
pJ 63,721
[ 19,116
2 44,606
307 BI2t0I & 127,443 125,204 2,239
pJ 63,721
[ 19,116
z 44,606
01 Sl2Y 2| 127,443 125,204 2,239
O 2AXIZHIXI(1299) 127,443,000 127,443
pJ 63,721
[ 19,116
= 44,606
Db Z S0l 2 22| A 4,600 3,600 1,000
201 LBty 3,400 3,000 400
01 At 22l 2,400 2,400 0
O THEXIZAZRIOAL & 200,000 * 122 2,400
02 S22 1,000 600 400
O A&ZH SXIb| 500,0008 * 23] 1,000
301 UptE A 1,200 600 600
10 HALAIHI B A2 1,200 600 600
O Mexas HxE2g 300,000 * 43 1,200
THorre e (013) 8,737 11,814 A3,077
pJ 4,368
[ 1,311
= 3,058
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S
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O MItSEA usZA =&

150,000& = 43|

S

EUNGH
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S

U

1,400
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1,000

400

307 212+01 A

S

U

5,157
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774
1,805

6,814

A1,657

01 2 2¥ =l

O MotgaXt 2oz & 2257
515,

15,700& * 1028

S

EURGH

5,157

5,157
2,578

774
1,805

6,814

A 1,657

X

46,976

23,488
23,488

46,976

X
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500

01 AtR 22|l

O XNIAS AL EAI2E
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H X
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500
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202 O4H|

X

1,000

500
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1,000
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SNBSS - HRAY - BHES Aboy i
01 2048l 1,000 1,000
O XIS AHSI A4 2 Z AL HI
50,0008 * 29 * 102 1,000
p 500
= 500
307 212+01 & 45,476 45,476
p 22,738
z 22,738
05 DI2teIEra 45,476 45,476
O NAE AL TS ALY 45,476,0002 45,476
p 22,738
= 22,738
JBHANSYSB AN (SHI) 9,612 9,612
< 2,884
= 6,728
202 01| 3,200 3,200
= 960
= 2,240
01 204t 3,200 3,200
O o2 UK Y2BAAY = ol
20,0008 * 4% * 403 3,200
= 960
= 2,240
307 212+0I & 6,412 6,412
= 1,924
z 4,488
NIEEEEET 6,412 6,412
O SHAHSUE %4E Y 22E 7
6,412 * 1,000% 6,412
= 1,924
= 4,488
2RU=39BMEIA(SH) 4,290 4,290
= 2,145
z 2,145
307 212+01 & 4,290 4,290
= 2,145
= 2,145
01 /2L RZH| 4,290 4,290
O ZzgsAa 30,0008 * 143% 4,290
= 2,145
= 2,145
COIALTSHAL (2HI) 4,305 4,305
= 3,013
< 646
= 646
307 212+01 & 4,305 4,305
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= 646
= 646
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O oA AEAS 34,7173 » 124Y 4,305
= 3,013
(= 646
= 646
Y2EHIE 2E 11,600 11,600 0
201 Et24Ed| 11,600 11,600 0
02 3324l 11,600 11,600 0
O Ye2ANssH
1,600& » 400 = 200& = 7.5L 9,600
O Z22Axe !X 500,000& * 404 2,000
KNSAMIISE THEAL(OIS) 45,688 0 45,688
Il 21,044
= 24,644
101 2124 dl 24,900 0 24,900
Jl 10,650
= 14,250
04 JIZtH 22 S E 24,900 0 24,900
O NAASSATHE ALY Q1 244]
1,500,000+ 122 18,000
Il 9,000
= 9,000
O XNAMBISHMEMNS EXS 1,500,000 1,500
Il 750
= 750
O XNAMBISHMY 4UH2E 150,000+ 12 1,800
Il 900
= 900
O WA S ALY S|, RS
300,000 «12& 3,600
201 der2a| 6,188 0 6,188
p) 3,004
= 3,004
01 AtR2telH 5,188 0 5,188
O 222 & UMM 1,047,000& 45 4,188
Il 2,004
= 2,094
O MEAMY w=H| 500,000%23] 1,000
Il 500
= 500
02 322l 1,000 0 1,000
O MEHEH Al&ZEHl S 500,000+22] 1,000
Jl 500
= 500
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2 53
SHAAY F8HC =X He
- _ _ ME
A B2 S(3I) - MRAY - B8 ko O Ak 04 e
202 048l 1,600 1,600
p) 800
o 800
01 =L 0dbl 1,600 1,600
O XNSAMSSMEAS Kbl
20,0002 2 x4 *102 1,600
Jl 800
o 800
206 M = H 3,000 3,000
p) 1,500
o 1,500
01 M =Hl 3,000 3,000
O Mgz M= 750,000 *43] 3,000
) 1,500
o 1,500
301 et A= 4,000 4,000
Il 2,000
o 2,000
10 At BI24 S 4,000 4,000
O MEAEZ2E 298 200,000 *52] 1,000
) 500
o 500
O Mx2Y 4 & A 100,000+ 102l 1,000
y) 500
o 500
O MEAMY ZA=E 200,000 »2& x53] 2,000
) 1,000
o 1,000
307 22tolH 3,000 3,000
p) 1,500
o 1,500
01 ==l 3,000 3,000
O MEANY %E L 228 2
1,500,000 »22 3,000
) 1,500
o 1,500
405 Xt&HF SHI 3,000 3,000
p) 1,500
o 1,500
01 At =S H SHI 3,000 3,000
O Mzadl +4 1,500,000 25 3,000
p) 1,500
o 1,500
SZSNHSSEI ATASOIB) 10,842 10,842
p) 8,674
o 2,168
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[
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R
J2H

H X

10,842

8,674
2,168

HAAZHE 59,5713 x182H

H

10,842

10,842

8,674
2,168

10,842

H S

441,387
4,457
4,721
5,037

427,172

367,998

73,389

il

:

=)
0x

e
08
08
|

=

HH YW

80,601
4,457
4,135
4,927

67,082

85,222

AN4,621

18,506

15,507

2,999

307

18,506

15,507

2,999

DARTIDN[Enget
1,800 = 10,281

18,506

18,506

15,507

2,999

2,090

2,090

2,090

2,090

SE=E W&

2503 * 1,00004 » 53

2 D

7,000& * 69 » 202

2,090
1,250

1,250
840

840

2,090

[
0

XM HHI X (=2d])

M

8,915
4,457
2,229
2,229

8,915

H M

8,915
4,457
2,229
2,229

8,915

e A B X &

123,815& » 6 * 128

M

8,915

8,915
4,457
2,229
2,229

8,915
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M BAA
g Loz ael
©He 8- g Eggae (&9 &)
_ = S =
SA-EFH - SA(SAH) - MREAY - BES Off &F OH @E% BlusZ
stdlg 2te| 5,700 5,500 200
402 RI 2t 201 & 5,700 5,500 200
02 SI2tCHE AP I 5,700 5,500 200
O St ZtelAr RIS 5,700,000& » 14Xl 5,700
Zaiztel 8,089 6,589 1,500
201 L2 6,010 4,510 1,500
01 AtR2telt 6,010 4,510 1,500
O Zd0g =2
1,5008 » 25 « 2700H 810
O 5 -9 Z 0|38 & 222
7,000& = 5& x 202 700
O =gty Zd0ls 28 5,000& = 600 3,000
O =p0ols Z2HAFAT JIES  3,000& 500 1,500
307 212+01 A 2,079 2,079 0
01 I 2€+=Hl 2,079 2,079 0
O Z#sneEx M2d #¢
1503 = 30€ + 302 * 63 810
O ZHBAL A%
5,0008 * 6¥ * 35 » 12& 1,080
O ZEI EAS Fo4d P
0 » 708 * 35 * 62 189
OOl =2tk XIS HIXI& 1,000 700 300
202 044l 1,000 700 300
01 SLHOII 1,000 700 300
O ool &XH#=XH=H o]
1,000,000& * 1& 1,000
SR B34 AR 3(<Hl) 30 30 0
S 30
201 24 30 30 0
= 30
01 AtR2tel 30 30 0
O gzdneEgdsss A 6,000¥ * 5¢ 30
< 30
ABAZ[ AL 2el 28,000 29,000 ~1,000
201 L2 3,000 4,000 A1,000
01 AtR2telH 3,000 4,000 A 1,000
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